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REŠENJA ZADATAKA 
 
 
 
 
1. a) µA10065 === BDD III ;  µA502/4321 ===== BDDDD IIIII . 

 
 b) -4,311 =da ; -0,006231 =sa ; 691,81 =ρ . 

 
 c) V29,1min −=V ; V18,2max =V . 

 
 
 
 
 
4.  

constvP == 8,4V]V[ , za 8,4VV12 −≤≤− Gv  (IOP-poz. zasićenje, DZ -proboj, Q- zasićenje); 

]V[]V[ GP vv −= , za 6V8,4V −≤≤− Gv  (IOP- lin. režim, DZ -proboj, Q- zasićenje); 

]V[]V[ GP vv −= , za 06V <≤− Gv  (IOP- lin. režim, DZ -proboj, Q- DAR). 
 

constiC == 0,6mA]mA[ , za 8,4VV12 −≤≤− Gv  (IOP-poz. zasićenje, DZ -proboj, Q- zasićenje); 

9]V[]mA[ += GC vi , za 6V8,4V −≤≤− Gv  (IOP- lin. režim, DZ -proboj, Q- zasićenje); 

]V[5,0]mA[ GC vi −= , za 06V <≤− Gv  (IOP- lin. režim, DZ -proboj, Q- DAR). 
 
 


